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Instructions : Attempt all questions.
(i) IW ¥ =fg amavas & Al st sreran Yl o1 s Fifag
Use diagrams or flow diagrams if it is necessary.
(iii) ¥ 9% 23 A 26 7% F Al § i fawey g o §
In Question Nos. 23 to 26, internal options are given.
(iv) I Yfeew & 999 71 F74 T9 TE 9 i fafE
Write correct question no. in your answer copy while solving the

question.

(v) -3 # feu fHdw o ER s fod |

Wnite the answer of the question paper as instructed,
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Instruction : (A) Question Nos. 1 to § are very short answer type questions. Each
question carrics | mark. (Maximum word-limit of answer IS

1 word / | sentence)

-1 #7799 ¥ nvfaen srafi faas foai = e 20 [1]

How many days are there for pregnancy period in human?

wWA-2  INfvstlisa few wiew @ wra o a8 2 [

Opioids are obtained from which plants?

WA-3  Bt-$9H § ARG Fedul W &1 99 & & ? (1]

What is the name of transferred anti-insect protein in Bt-cotton?

vI-4 ﬂmm%ﬁammﬁmmmt? (1

Which ecosystem is comparatively less stable?

WI-5  CNG =1 QU 7 fafau |
Write full name of CNG.

(1]

Fdr : (/) mmeﬁmmwzﬂﬁum%rw}a:mmzwm
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Instruction : (B) Question Nos. 6 to 10 are short answer type questions. Each

question carries 2 marks,

30 words)

(Maximum word-limit of answer s

W6 e am d?

[2]°
What is Zygote?

W7 SR %) e @i

Explain Oncogenes.
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wWA-8  fag-IafEd fad wea &2 (2]

What is point-mutation?

WYH-9  WEA § A Al 3 Srarneitaa Ol & 9 w1 gfed fafag) [1+1=2]

Write any two names of pathogens that cause bactenial diseases

in human.

UPA-10  SMaEfves war=aid wgal & &g 21 oy fafag) [1+1=2]

Write any two advantages of genetically modified crops.

frder (W) R HEE 11 | 22 6 oY 390 ¥ § | TS Y W 3 3iF At
# 1 (I F Afuwdy wg-G1 50 I ®)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of answer is

50 words)

-1 SOINET T PRI F B At sie fafag [1+1+1=3]

Write any three differences between Oogenesis and Spermatogenesis.

WA-12 4 faerer | A9 foen srevw 22 ofz o @ w60

(3]
Is sex education necessary in schools? If yes, why?
WA-13  UF IR 9 a1 U 3 o % feaw 2 3| gani
B o R PR e g —— 3]
What will be the hereditary of the offspring when a haemophilic
male marries with normal female? Explain it with only ray diagram.
U¥T-14  TR-wiE HI 3fwa Iew qfea gagmgy) [1+2=3]

Exp'ain the Test-cross with suitable example.
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U¥i-18

a91-19

W¥-20

u?i-21

W¥-22
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ez S’ o e €7 3]

What is called ‘Central dogma'?

HEL U & HIE AT THRI T ATAR | [1+1+1=3]

Explain any three types of Cancer discase.

a9 -I9F fHH YR | 4 Fil I F1 913 € ? [3]

How do bio-fertilizers enrich the fertility of the soil?

TR TR T T s feogit ffEre 3]

Write a short note on Bio-piracy.

wfers 39a F1 ¥ 2 3Ea! Sa-fafavm ¥ o § a3 yfas 82 (3]

What is sacred grove? What is its role in conservation of Bio-diversity?

Ya e ygue w6 9a ety ugus § & alT 3im
fafau) [1+1+1=3]
Write any three differences betwcen Bio-degradable and Non-

biodegradable pollutants.

T3-WfordY & T i SavaEd Fi & 2 B AT IgE FRo a1+ 1=3)

Why conservation of wildlife is necessary? Give any fhree main reasons.

YafeRoig Yguu H U * fou vF =fw F w9 0 09 @0 39 £ 7

H8 ¥: 3 fafau ) [“2%x6=3]

What measures as an individual you would take 1o reduce

environmental pollution? Write any six measures.
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Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

UPA-23  URSHE! S 9 § ? 39 e 1 IaareA s wreil @ e s @ 0 5

a7 o fafagy [1+3=4]
What are transgenic animals? Why are those animals being produced?
Writc any three rcasons.
Haqr
OR
srgatee SfvaitRt w0 2 2 sow e Ste 3 |1 A e fafaw)
What is Genetic Engineering? Write its any three significances in
human life.
Fder : (§) W HEIF 24 B 26 T <l Ioda T ¥ | TRE W W S 3w Aeifed

T (W A afusan geg-dmr 150 v )

Instruction : (E) Question Nos. 24 10 26 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

UYT-24 U WEYE YUY S A @ AmiiRa sTa T fe el @ oo
wE w1 fafay : [2+3=5]
(37) 3vg HIfFEH

(&) wfaya Fifewd
(@) TEas Hifn
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Draw a labelled sketch of a typical embryo sac and write osme Mmain

function of the following :
(@) Egg cell
(b) Antipodal cells

(c) Synergids
OR

@uﬁmmaﬂmmwmmﬁﬂ“ﬁﬂﬁ
H@H—Tﬁfﬁﬁﬁﬁ:
(37) arEEE

(q) SR
(®) FATFRITEH

Draw a labelled sketch of a mature pollen grain and write one main

function of the following :
(@) Exine
(b) Germ pore
(¢) Generative cell
UYA-25  HE-wwifedr 4 8 2 IS & A 4rd g wwas fw F, ® § f
Yo & W0 YIEY d A WrET F47 | [243=5]
What i1s co-dominance? How many types of phenotype and genotype

will be formed in F, generation? Explain the example with the help

of checker board.



FHEAE g Hwm £
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2 N A foay

What is incomplete dominance

? How many types of phenotype and
genotype will be formed in F

4

2 generation? Explain the example with
the help of checker board.

W3- 26 AR A SiEa A qgensita i w2 ofe SqafEed # oseew

[1<5=5]
IS

y-ﬁ

HYUar

OR

N Ueehet F
g o |l ¥ f foomo fedt #1 Geeta /31 @91 § fag s
‘ ) ? =
wﬁﬂfaﬂ T § 2 afe &, @ sufad 398 F8 o9 A9 R TN THAE? (14
: . | | e alc /drugs? If
Do you think that friends can influence one to take alcohol/drug
0 yo

, -
' "/ herself from such an influence’
rotect himself / herse
yes, how may one p
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